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2. What is the difference between biweekly and semi-monthly pay periods?
What advantage does one method have over the other?
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3. Luc earns $534.12 a month and works 12 hours a week. Explain how you
would calculate his hourly pay. (Hint: $11.13 an hour is not correct.)
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A person who )
works for him or

herself rather than
for an employer/
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"When someone is

PiZCZWOr‘k paid a set rate

for an amount produced

» apiecework plan pays an employee on the basis of the number of articles
produced or how much gets done.
o examples of this type of work include...
- manufacturing items, forestry jobs (commercial thinning, trail cutting),
mowing lawns, fishing, delivering flyers, etc...



Untitled.notebook December 17, 2018

Commission
a2 An amount )

( usually a percentage )
paid to someone

for a business transaction
N—_ _

g ' j o dﬁi e

e an incentive plan where an
employee receives a percentage
of their total sales.

» examples of occupations
include car/furniture/clothing
sales people, real estate agents,
etc...
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Contract

A legal agreement that outlines
term, conditions, and payments
for work to be done

NOTE: In a contract, you get the same pay
regardless of how many hours it may
take to finish the job.
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SELF-EMPLOYMENT

Advantages

» freedom to select
appealing jobs

= ahility to set own
hours

» able to take time off
when desired

® you're your own boss

 you may prefer
working alone

PIECEWORK
Advantages

= can earn more if you
work quickly

» clear relationship
between output and
Wages

» wages based on your
performance

Disadvantages

» may not have enough
clients

= you may not like
self-promation

 you may not like
bookkeeping

« you may find working
alone lonely

= you don't get paid
holidays or benefits

Disadvantages
» will eam less if you
don't work quickly

* you may be tempted
to take shoricuts

* you may be tempted
to ignor safety
procedures

* quantity emphasized
over quality

December 17, 2018

Self Employed

VS

Piecework
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EXAMPLE #1:

A car salesman earns 2 % commission on all of his total sales and also
receives a base salary of $10/hour. Yesterday, he sold a Nissan Quest for
$40 000 and worked 8 hours. What is his gross pay for that one day?

Loy ol x £ = 80
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DISCUSS THE IDEAS
HOME RENOVATION CONTRACTS

You have a home renovation business that specializes
in adapting existing homes for people with disabilities.

1. How would you calculate how much to charge
customers for the renovations they are requesting?

2. If you bid on a contract with a price of $14 500.00
and your potential client requests a reduction of
8% to match a lower bid, what would your new
bid be?
. > S . i
LA : . .-_'—; = """té
Installing ramps makes homes mare accessible for peaple who
use wheelchairs.

L

Would you consider making this reduction? Why
or why not? What factors would you take into
account?

4. What would you set as a payment schedule? What is your reasoning?

5. Why do you think the homeowner would prefer to pay on a contract
basis rather than an hourly basis?

SOLUTIONS
1. To calculate how much to charge you would 3. In deciding whether to make a lower bid,

2.

need to produce a design, calculate all
materials needed to build the design, cost the
materials, estimate your hours, consider any
subcontracting costs that may be involved,
add in an amount for contingencies, and a
percentage for profit.

Calculate 8% of the price and subtract it from
the original estimate to get the revised bid.

%14 500.00 x 0.08 = $1160.00
$£14 500.00 — $1160.00 = $13 340.00
The revised bid would be $13 340.00.

Alternatively, if the revised bid is 8% less than
the original, it will be 92% of the original.

$14 500.00 x 0.92 = $13 340.00.

you would consider the cost of materials and
labour (whether you have employees or work
alone), how much profit was built into the
initial bid, whether you have plenty of other
work lined up, and so on.

You might ask for the cost of the materials

to be paid up front and the labour to be paid
in two installments, halfway through the job
and at the end. You need to buy the materials
before you begin, so passing this cost on to
the customer at the beginning is a good idea.
If the job will take more than two weeks,
getting interim payments will allow you to pay
yourself as you go.

5 The homeowner would probably prefer to pay

on a contract basis because he or she would
know in advance how much the complete job
will cost. If builders work on contract, the job
is likely to proceed more quickly than if it is
paid on an hourly basis.

10
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EXAMPLE #2:

Hien is a painting contractor. He negotiates a contract with a homeowner

to paint the exterior siding on a house at a rate of $30.00/h plus the cost of
materials. It takes Hien six 8-hour days to prepare and paint the siding, and
he uses 15 gallons of paint that cost $45.00 each. What is the total value of

the contract? /KV) g‘;o/hr X gl\f?‘éﬁ 4/%7/0
mp\W‘"‘b %YS/&)J(.*\ x 15 ;MLI
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HOMEWORK...
Check out pages 69 and 70.

Questions 1 to 7

P IN THE 2.2 Build Your Skills Detailed Solutions.pdf
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Section 2.2 Alternative Ways to Earn Money, Build Your Skills, p102—-103
Student Resource p69—71

Build Your Skills

1. Refer back to the chart on p. 99 of this resource for a list of advantages and disadvantages
of self-employment. Answers will vary about whether students prefer to be self-employed or
not.

2. a) Calculate the profit by subtracting the costs from the contract price.
$500.00 — $425.00 = $75.00
b) Calculate what percentage the profit is of the total contract.

$75.00 0.15

$500.00
Gilles’s profit is 15%.

¢) If the price for materials increased, under most circumstances Gilles could not adjust the
price because he signed a contract to deliver the product for a fixed price.

3. a) Add the amounts to find Leo’s total income.

$2500.00 + $7000.00 + $275.00 = $9775.00

Subtract the expenses from the income to find the profit, from which Leo’s pay would be
drawn.

$9775.00 — $7200.00 = $2575.00

The contracts are completed over one month at 40 h/wk.

40 h/wk x 4.33 wk=173.20 h

$2575.00 ~ 173.20 h = $14.87/h

Leo earns $14.87/h.

b) To raise his hourly rate, Leo would have to work more quickly so he could complete the
contracts in fewer hours, or lower his material costs.

4.82.75 x5=8§13.75

On the piecework system, Ling would average

$13.75/h.

On an hourly basis, she would earn $13.25, so she would earn $0.50 an hour more at the
piecework rate, but only if she maintained the rate of 5 arrangements an hour. If she is a fast
worker, piecework might be the better option.

5. a) Calculate the income Marlene will earn from the maintenance contract for the year.
11 months % $200.00 = $2200.00

b) Answers may vary. In general, for $200.00/month, Marlene would like to spend an
average of 4 h at $50.00/h. She would not want to spend more than 5 or 6 hours.

c¢) Add the design fee plus the maintenance contract for the year.

$13 000.00 + $2200.00 = $15 200.00

Marlene will earn $15 200.00 from this client.

6. To calculate the amount of commission William needs to earn, subtract his salary from his
total projected income.
$32 000.00 — $24 000.00 = $8000.00





A 12% commission means that he earns $0.12 for each dollar of sales.
Calculate the value of the supplies sold to generate $8000.00 in commission.
$0.12  $8000.00

1 X
Multiply each side by the lowest common denominator, x.

(0.12) (8000.00)
X = X
1 X

$0.12x = 8000.00
0.12x $8000.00

012  0.12
x = $66 666.67

William needs to sell electrical supplies worth $66 666.67 to earn $8000.00 in commission.

7. a) Calculate Dorothy’s cabinet installation fees.

12 cabinets x $15.00 = $180.00

Calculate the service call fees.

2callsx3h=6h

6 h x $30.00 = $180.00

Add the two amounts to find the total amount earned.

$180.00 + $180.00 = $360.00

b) Answers may vary. Piecework is beneficial if the worker is efficient and can earn more
than he or she would on an hourly basis. Working piecework allows the worker to decide
how much work to take on. Refer back to the table on p. 99 for more pros and cons of
piecework.

¢) Answers may vary. For an employer, paying on a piecework basis means he or she would
not be paying benefits such as holiday pay or sick time. Also, someone working piecework
would not get paid if business is slow. A disadvantage for an employer would be that a
worker may not always be available or a worker may not work quickly enough to complete
the work in a reasonable time.

Extend Your Thinking

8. a) You would need to measure the dimensions (length x height) of each wall. Then
measure the dimensions of the fireplace and patio door, which would be subtracted from the
total area, along with other open space such as a hallway, to arrive at the area to be painted.
b) Other calculations include the price of primer, paint, edging tools, drop cloths, brushes and
rollers, and so on. You would need to estimate the time involved, having determined how
many coats of paint are needed.

c) Let x = cost of supplies

Let y = cost of labour

Total cost=x +y

Profit equals total costs subtracted from contract amount.

Let P = profit

Let C = costs
Let A = amount of contract
P=4-C

Percentage profit equals amount of profit divided by amount of contract.
Let Z = percentage profit





P+A4
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Chp. 2: Earning an Income...Alternative Ways to Earn Money

[

BUILD YOUR SKILLS

2]

b

Website designers often work on a contract basis.

Suggest two benefits self-employed people might enjoy. Suggest two
disadvantages of self-employment. On balance, would you prefer to be
self-employed? Why or why not?

Gilles, an aluminum fabricator in Restigouche, NB, accepts a contract to
make an aluminum gate for $500.00.

a) If the cost of materials and labour to make the gate is $425.00, how
much is his profit on this gate?

b) What is this amount expressed as a percentage of the contract?

c) If the cost of materials were to increase after the contract was signed,
could Gilles adjust the price? Explain your reasoning.

Leo is a self-employed plumber. When he started his
business, he received help securing a loan and business
advice from the Nunatsiavut Business Centre Incorporated.
The centre supports Inuit businesses operating in Labrador.
One month, Leo’s plumbing business had three contracts
for $2500.00, $7000.00, and $275.00. The cost of Leo's
expenses and materials to complete these contracts was
$7200.00.

a) How much did Leo earn an hour based on a
40-hour work week?

One of a plumber's tasks is to remove roots from
drains with a snake.

b) Suggest two ways in which Leo could raise his hourly
rate to $20.00.

4. Ling works as an assistant to a florist. She can be
paid $2.75 for every arrangement or $13.25/h. Ling
estimates she could create about five arrangements an
hour. Which payment scheme would you recommend
and why?

5. Marlene is a website designer. In January, she creates
a website for a new client, charging $13 000.00.
Marlene bids on and obtains a maintenance contract

for the balance of the year that will pay her $200.00/
month, beginning in February.

a) How much will the maintenance contract be
worth?

b) How many hours a month do you think would
be reasonable to spend on website maintenance,
given the contract amount?

¢) How much will Marlene earn this year from this
clien?

6. William is a salesperson at an electrical supply company. He earns a
base salary of $24 000.00 a year plus a commission of 12% on electrical
supplies such as wire, switches, and fixtures. If William aims to earn a
total of $32 000.00 a year, how many dollars’ worth of electrical supplies
will he need to sell?

7. Dorothy, a cabinet installer, earns income on a piecework basis. When
she has to return to a customer’s home on a service call to make changes
or repairs, she is paid by the hour. The service-call rate is $30.00 an hour.

a) If Dorothy installs 6 upper cabinets at a rate of $15.00 each, 6 lower
cabinets at a rate of $15.00 each, and returns twice for service calls
that each take 3 hours, how much will she earn in all from this job?

b) Think of two ways that piecework benefits a working person.

¢ What advantages or disadvantages might piecework have for an
employer?

Extend your thinking

8. You are a painting contractor who has been asked to provide a quote for
painting the living room in a customer’s home. The room has a fireplace
and a glass patio door. The fireplace and marble mantel is 1.75 m wide
and is as high as the room. The patio door is 3.5 m wide and extends
from floor to ceiling,

a) What measurements would you need to take?
b) What other calculations are involved in producing the quote?

¢) Write two formulas, one for calculating total costs and one for
calculating percentage of profit.

2.2 ALTERNATIVE WAYS TO EARN MONEY
BUILD YOUR SKILLS, PAGE 69

6.
7.

Benefits of self-employment include being
your own boss and being able to set your
own hours. Disadvantages include that you
don't get paid holidays or benefits and you
have to promote your business yourself.
Answers to the last question will vary.

a) The proht is $75.00.
b) The proht is 15%.

¢) He could not adjust the price because he
signed a contract to deliver the product
for a fixed price.

a) $14.87h

b) To raise his hourly rate, Leo would
have to work more quickly so he could
complete the contracts in fewer hours, or
lower his material costs.

On a piecework system, Ling would earn
$13.75/h. 1f she is a fast worker, piecework
might be the better option because she could
earn $0.50 an hour more.

a) $2200.00

b) An average of 4 h at $50.00/h. She would
not want to spend more than 5 or 6 h.

o $15200.00

$66 666.67
a) $360.00
b) Answers will vary.

c) Answers will vary.

Extend your thinking

a) Measure the length and height of each

wall, and the dimensions of the fireplace

and patio door, along with other open
space such as a hallway.

b) Other calculations include the price
of primer, paint, edging tools, plastic,
brushes and rollers, and so on. You
would need to estimate the time
involved, having determined how many
coats of paint are needed.

c) Total cost = (cost of supplies) + (cost of
labour)

profit = (amount of contract) — (costs)

percentage profit = (profit) + (amount of
contract)
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